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Instructions :

GoIly = (i)
(i)

Note : (1)
(i)

2 (1)

Smarsg larrssErbd sflurs uSeurdl o dreTsT 6r6TLISem e
sfluTTggs Qamerareybd. F&HLLSeNd GapuimLllber <emm
sasrentiliurerflib o L arnguwirg Cgsflellgsem.

(2) Beow deg &S®mUY owulamear LEHGCL 6rWgSHELD
2llgECH Mg (HeusH@D LweT(hds GoueaT(hd. LILBISET eUamTeUSD S
Quenfled LieTUHGSH6D.

(1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

L@&3 - I/PART - I
SlemensG NaTTESHERSEGD ellen_iet&seLb. 15x1=15

Qer@hassiul(hearer wrHm elevLsailed W&EeDd eFHLenL

adevLerwd Carpbgshdss @GMuILHLear elleLulamenyb GCargg)
CT(LPSELD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.
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1. oerieuer @angdlen CLTHETELD :
(=) CuCWIGamuils GLmRISTOLD
(<) BCerGamuils QuimmisTeLD
(@) yCrrigCrrCemuis QumRIsTaLD
(r) &GammGemuisd QupmISTOD
The golden age of reptiles was
(a) Paleozoic era
(b) Mesozoic era

(c) Proterozoic era

(d) Cenozoic era

2. & @Lwrmmb Csmhhmi sl
smLeLud eer ClFass LIt Eng.

(=1) 5 -QgdasEns@E Cohul L &
(<) 8 -Qaes@séE Gooul L &
(@) 5 -ClabsEns@ @GambeuTer &
(F) 8 -Q&L&HERE®E GMDEUTET &(Th

In embryo transfer technique,
into the uterus.

(a) more than 5
(b) more than 8
(c) less than S

(d) less than 8

Qgevger bHlenaude sm&EGsmerid

celled blastomere is transferred
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Hrss Corsams Hapssl ewbw dswadl L sdear sflurear cuflengen ws
ST H&.

(=) BEer&sD, (mACLWITSSD, LigbwhSse
(<) L QwBsse, QLTNCLWITSSED, GFLlq LTS
(@) @rigiursd, LgCu@sse, CorPCuwrsse

() uu®sse, Qrigliursa, CorHouwrssea

Which of the following is the correct sequence of event with reference to the
central dogma ?

(a) Duplication, Translation, Transcription
(b) Transcription, Translation, Replication
(c) Replication, Transcription, Translation

(d) Transcription, Replication, Translation

S dedmas gamearsg CFwesn@ e albg Geweiled menL Gumid
Hlapay -

(=) evCurblGurtigeiélev

(<=},) evEUTOCWag e

(&) gmGarpmid

(FF) &TTigsH6 eSlenarser

The process which the sperm undergoes before penetrating the ovum is :
(a) Spermiogenesis

(b) Spermiation

(c) Capacitation

(d) Cortical reaction
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5.

SQssrarLi .Cumer anbCurdLiger smmlerily FAndlear Cl&Lpenns LD
Bleoviurligggorer Cgriy log S = log C + Z log A, @dlé Z’ eremuig

(=) Y -QeoL@nssh (<=1,) Addler QFpento

(@) Gsrigen gmile] Hlene (/) BHleouriiy

According to Alexander Von Humboldt, species - area relationship is
log S = log C + Z log A, where Z’is :

(a) Y-intercept (b) Species richness
(c) Slope of the line (d) Area

paratfladl(mbg s BH&E BsHL alowbSarbaer relourn SenpssL-
um&lermer ?

(S1) SLLTLFTLOG

(<=4,) evle CerrlgTned

(@) T gmoen

() wilOgmoe

Animals that can move from freshwater to seawater is called as :
(a) Catadromous

(b) Stenothermal

(c) Anadromous

(d) Eurythermal

gelalrenouiled QFTLjenL wig) :

(1) IgA (=) IgE (&) IgM () IgG
Allergy involves :

(a) IgA (b) IgE (c) IgM (d) IgG
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urgeflwrelld @Qamitumssd Spasam ebg penpuiled Bl QumEng ?
(=) @emenrsed (<) CaWIL 2 (HeuTdsLd

(@) @evGurt o (HeurssLd (FF) eremGLmevGUmT 2 (Heumrssd
The mode of reproduction in bacteria is by :

(a) Conjugation (b) Formation of gametes

(c) Zoospore formation (d) Endospore formation

XO auens Lmed Bliramruid wHmIDd XY euend LIT6 HITewTwLd 6THM @ ST TemTLONSS
FMETLD ?

(=) Caumul L @argbad et (<) Caumul L @erd6lad GlLiewr

(8) @55 Qanstlsd e () (<) wood (§))

XO type of sex determination and XY type of sex determination are examples
of :

(a) Male heterogamety (b) Female heterogamety

(c) Male homogamety (d) Both (b) and (c)

cueTigm errgds Carium’enl gplieum wimr ?

(<) @MDOTTE (=) Lmirele

(@) <@ CUFL auUTemeD (7)) psavl eievGLoe
Who proposed the ‘Germplasm theory’ ?

(a) Lamarck (b) Darwin

(c) Alfred Wallace (d) August Weismann
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11. Speu@peuaaudmer oTg QréssHen CQsToeverTd SaTamald GmDndHs

vweruhS gl ?
(=) sllg HengliLimer (<,) evgsCermevGumflenr A
(@) evCL L igersar (FF) QLLlgrengsdlaflen

Which one of the following is used to lower blood cholesterol level ?
(a) Clot buster (b) Cyclosporin A

(c) Statins (d) Tetracycline

12. SPEF@TcUPMIET eThHS (e, WMHSFHeus sfley Careamannuid enswimeri-
u(eudldeney ?

(<=1) pelpern QAsTHmbHsD
(<) erilgge
(@) Qurdlurssid

(rF) mEFPDHE wHMYD WBaETHb LwETLHSSISO

Which one of the following method is not used in biomedical waste disposal ?
(a) Autoclaving

(b) Incineration

(c) Encapsulation

(d) Recycle and reuse
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13. shuysuie wpupCrrusdl 2 uilflsg wrmprs Crru,sd o ulfluller L@daser
LweTUOhSSUB IS @Qeueurm PSSLILIBHLD :
) lg.eTem.er. SHULSsET
<) glemareo@ wnCsrsms sH LSS

(

(

(@) eupsswrer sHLILSEET

(FF) ey Geonssiul L wnGCsrsams H UL S s6T

Vaccines that use components of a pathogenic organism rather than the
whole organism is called :

(a) DNA vaccines
(b) Subunit recombinant vaccines
(c) Conventional vaccines

(d) Attenuated recombinant vaccines

14. YerrevGumgwid eneleurdedlien evCuTCrmGamulll Hger R JGIE
2 (HeUTSSLIL(H & smm e
(<) 2ardlev(h&eT (<) CaItGLTang_(hser
(@) evCGumiser (FF)  evGurCrmlermev(HaserT

The sporozoites of Plasmodium vivax are formed from :
(a) Oocysts (b) Gametocytes

(c) Spores (d) Sporoblasts

15. 2A + XXY @CrrCGurGsrbsamens Csmeanr LLpLLLFSudler Lme Semenid eremer ?
(=) wibw Cuer (<) @rlev_ow GCluewT
(@) www @evliumed 2 udfl  (FF) @rlenlow <y eur
What is the sex of Drosophila which possess 2A + XXY chromosomes ?

(a) Triploid female (b) Diploid female
(c) Triploid intersex (d) Diploid male
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L@ - II/PART - II
SN : eTemeuCuienid g elarmés@hs@ ellenwefldgseb. el erem 24 -&@
SL_L_muwng el wel&Hse L. 6x2=12
Note : Answer any six of the following. Question No. 24 is compulsory.

16. esTE) @ eUMTWMESHE|LD.
Define : Zymology

17. @emabl9er crarmmed Gremer ?
What is inhibin ?

18. @npdlwureie srewriiupid Wens 2 arepi 2 uilflarl u@dsafler QUWTEameT
T(PSIS.

Name the hotspots found in India.

19. Carflurer mewmBld wrdfl opiey ubm @GHly cuemys.

Write a note on Chorionic villus sampling.

20. Gamraereriyflé edena6r erariamel wimene ?
What are holandric genes ?

21. sMHEGLOSL WPenuledlmBg albg@LpasmL permeriwl CaumiLihssis.

Differentiate tubectomy from vasectomy.

22. FTOT—ETT GTETDTE) 6T6I6 ?
What is Kala-azar ?

23. @haDLW—@Qrl e Low Hlene eTammmed eTeer ?
What is haplodiploidy ?

24. Spsaa Crmis@Epsastear CHT STrawsamer 6r(Lpsis.

(i) smerT (i) ergTrenT Fefl

(iii) SlE@er@emum iv) uyGurefls ACers
Write the causative agent for the following diseases.

(i) Cholera (i) Common cold
(iii) Chikungunya (iv) Bubonic plague
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L@ - III/PART - III

GO : eTemeuCuienid ymi ellaméasEné@ elaweflsse b, elan eramr 33 -&@
SL_L_muwng el wefl&sab. 6x3=18

Note : Answer any six of the following. Question No. 33 is compulsory.

25. GarerGoll_(Hh&ET eT@mme WTeel ?

What are Coacervates ?

26. ‘Ggmpigienm osanme’ erer GOIUALLLIHeUS 6TE ? DiS6T L& Lnl
GO 6T (pGI5.

What is referred to as ‘industrial alcohol’ ? Add a note on its uses.

27. ollbgl Glgeiler enlienll LIL D almfhgl LMSRISM6Ts &l L.

Draw a labelled sketch of a spermatozoan.

28. oy f.eran.e.-adH@L, lg.eTar.er.-allH@Gn @ Cu 2 6Ter epliL FTTHS
Ceaumur(H&ET epeTHlenast 6T (LpGids.

What are the three structural differences between RNA and DNA ?

29. gan(h CFser raTLmel Wremel ? WWMHSFHUS FHanuiled Her LIBIMS
ollemsGs.

What are stem cells ? Explain its role in the field of medicine.

30. FmHaMsSL Bl Cumibd @)L Sl iqliLienL uled smHaymsme euamEIL(HSSHIS.

Classify fertilization based upon the place of occurrence.
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31. ECrmGwrGsmbd Csm@liL euemyuLgdHler LWeTUT(HSET Wrenel ?

What are the applications of Karyotyping ?

32. uall&@Ls gianeTliL] eTeld QUETTE(F LITe) SeTL_MHL|d 16| BB Iq6d SenL_
QU (hererg. @& Caameugreart ? sMmEamg CgTletissaLb.

Amniocentesis, the foetal sex determination test, is banned in our country.
Is it necessary ? Comment.

33. 2 wrwrer wamoll UGHsErsE CFaibd &56T S BTLs@EhdEGeT ShisHamar
ereueumm AFGHPISCEHmeUTN GQlamTésnrsdls Csrardleament ?

How do people acclimatize to higher altitudes within a few days ?

L& - IV/PART - IV
G : Semesisg alarmésErdEh ellenLwafldEse, . 5x5=25
Note : Answer all the questions.
34. (=) o QFeedler LML &b eUmFLIL gL 6 allalflssa]Lb.
S|6V6VF)
(<) @DmeuraflseneT enLwimerd &rewtil Liwer(hdsUU(n Gsrhlnm Ui
wrgl ? Sigerm wHn UwerurhgEmers &mlLahs.
(a) Describe the structure of the human ovum with a neat labelled diagram.

OR

(b) What is the technique which is used in the identification of criminals ?
Give its other applications.

35. (@) Lrrellalws Carlurfhs@pssrer (padl Tl S(HSHISSET Wranel ?
S|60605)
(<) 2l veeimss sarenwuler @WlkbnaTer LOGEUM &My ewT kI &eneTL]
Ul g well(Hs.
(a) Mention the main objections to Darwinism.
OR

(b) List out the various causes for biodiversity losses.
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36. (=) (i) wrewenssmd Crrepwl HLIHSSHID WTanendEHTe Li(padlen oimlellwie
QU eT(PSIs.

(i) wrenenssred GCrmuien MlGMlsemen 6T (Lpg)s.
(iii) @bCHIL ereueurm LiFe|Spg ?
3|6V
(<) LIFULHSIHEET eTemLmel WTeel ? DeuDenm eUansLILI(HES)s.
(a) (i) Write the scientific name of the filarial worm that causes filariasis.
(ii) Write the symptoms of filariasis.
(iii)) How is this disease transmitted ?
OR
(b) What are pollutants ? Classify them.

37. (=) wails LruaNSHL L GdHler HpUueLsamer 6T (Ps)s.
ENTVIOVE:
(<=3) @ Coumy Sl eflevmi@s@EnddlenL_CUILITET FTTLISENET L L 6enEuTLL{L_60T
UMSLILI(NSG)S.
(a) Write the salient features of human genome project.
OR

(b) Tabulate and analyse the two species population interaction.

38. (=) BlewBi (piy&slen enwlienu LILSFIL 6T 656TéEs.
S|6060F)
(=) bMGarTsms @ enseilen creualrm 2 HUGS CFwiLBdng crarUmS
ollemsGs.
(a) Describe the structure of the lymph node with a diagram.
OR

(b) Explain how recombinant Insulin can be produced ?

-00o0-
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